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Alwaysinclude UNITS.

Vertical scaleis

Waveform peak-to-peak is:

per division.

Waveform period is:

Waveform frequency is:




Oscilloscope View #2:
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Alwaysinclude UNITS.

Vertical scaleis per division.

Waveform peak-to-peak is:

Waveform period is:

Waveform frequency is:




Oscilloscope View #3:
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Alwaysinclude UNITS.

Vertical scaleis per division.

Waveform peak-to-peak is.

Waveform period is:

Waveform frequency is:




Oscilloscope View #4:
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The waveform is dliding sideways across the screen and
does not stay in one place. Look at the oscilloscope
settings and identify what is causing the rolling display.
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Vertical scalefor Chlis per division.
Vertical scalefor Ch2is per division.

Ch1 waveform peak-to-peak is:

Ch2 waveform peak-to-peak is:

Chl leads Ch2 by this amount of time:
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Vertical scalefor Chlis per division.
Vertical scalefor Ch2is per division.

Chl1 waveform peak-to-peak is:

Ch2 waveform peak-to-peak is:

Ch1l leads Ch2 by this amount of time:




